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a) iguana, b) bird, c) dog, d) tortoise, e) goldfish, f) sheep, g) cat

1)…..,     2)…..,     3)…..,     4)…..,     5)…..,     6)…..,     7)  …..

Finish these phrases and ta lk about what these anima ls do. Look at
the example e.g. a dog barks/wiggles its tai l/eats bones

1. A bird  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

2. A cat . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

3. An iguana . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

4. A goldfish  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

3333 Answer these questions. Tick the correct box:

Points:          / 9

Yes, it does No, it doesn’t
1. Does a cat eat fish?

2. Does a goldfish climb trees?

3. Does an iguana swim in a bowl?

4. Does a tortoise walk slowly?

5. Does a bird sing in a cage?

6. Does a cow make water?

7. Does a duck swim in the sea?

8. Does a dog wiggle its tail?

9. Does a sheep eat grass?
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3.1. 2. 4. 5. 6. 7.



ANIMALS

8800

4444

Total:          / 40

CIRCLE THE CORRECT FACE AND TALK ABOUT WHAT YOU CAN DO

I can use the words for different pets, animals on farms or

endangered animals

I can describe animals

I can talk about what animals do, where they live or what they eat

Use: fifty, see, mountains, grass, fish, eighty, animals, three

The Greek brown bear is an endangered species. It lives on the

(1).....................of Pindos and Rodopi. It can be up to two metres long and two

hundred and (2).....................kilos. It generally eats (3)....................., but it also

eats ants, (4)....................and small (5).....................It has one or two babies

(cubs) every two or three years. Baby cubs can’t (6)...................and they weigh

two or (7)................... hundred grams. There are only one hundred and

(8).......................brown bears in Greece today.
Points:           / 16

Óôçí ÅëëÜäá ç êáöÝ áñêïύäá áðåéëåßôáé ìå åîáöÜíéóç. Ç

ìåßùóç ôïõ ðëçèõóìïύ (Ý÷ïõí áðïìåßíåé ðåñßðïõ 180 áñ-

êïύäåò) êáé ç êáôáóôñïöÞ ôïõ äáóéêïύ âéüôïðïõ, äçëá-

äÞ ôïõ öõóéêïύ ÷þñïõ ðïõ åßíáé áðáñáßôçôïò ãéá ôçí åðé-

âßùóÞ ôçò ïöåßëåôáé óôïõò áíèñþðïõò, ãéáôß ç áñêïύäá äåí

ôïõò, ðåèáßíïõí óå äéÜóôçìá 15 - 20 ëåðôþí.

(simplified and abridged from www.arcturos.gr )

Look at the information about the brown bear and fi ll in the blanks.
It is what a member of Arcturos is telling Andrew and his friends:

© march
24’05040/∞rcturos

Ý÷åé öõóéêïύò å÷èñïύò. Ç êáöÝ áñêï äá æåé óôéò ðéï áðüìåñåò ðåñéï÷Ýò ôçò Ðßí-

äïõ êáé ôçò Ñïäüðçò.¸÷åé ìÞêïò Ýùò 2 ìÝôñá êáé æõãßæåé Ýùò 250 êéëÜ, áíÜëïãá

ìå ôï öύëï êáé ôçí åðï÷Þ ôïõ Ýôïõò. Åßíáé êõñßùò ÷ïñôïöÜãï æþï áëëÜ ìðïñåß íá 

öÜåé ìõñìÞãêéá, øÜñéá êáé ìéêñÜ æþá. Ç èçëõêÞ áñêïύäá ãåííÜ ôï ÷åéìþíá (áðü

ÃåíÜñç ìÝ÷ñé ÌÜñôç) êÜèå äύï Þ ôñßá ÷ñüíéá, áðü Ýíá Ýùò äύï êáé óðáíéüôåñá

ôñßá ìéêñÜ. Ôá íåïãÝííçôá áñêïõäÜêéá åßíáé ôõöëÜ êáé ãõìíÜ êáé æõãßæïõí ìüëéò

200 - 300 ãñáììÜñéá. ÅÜí ç ìçôÝñá ôïõò óêïôùèåß ó´áõôü ôï óôÜäéï ôçò æùÞò

ύ
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